‘Booklet No. : DRNY

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

Test Booklet Series
Roll No. *
TBC : YRS(AP-CC-Education)-2022 A
Time Allowed : 2 Hours] : ' [Maximﬁm Marks : 100
INSTRUCTIONS
1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK

THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number, Test Booklet
Series A, B, C or D and Application No. carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet with blue or black ball pen. Any error detected in the
scanned data of the Answer Sheet due to wrong encoding of either Application No. or Roll No. or both
by the candidate, his’her Answer Sheet shall not be evaluated and shall be rejected straight away.

3. You have to enter your Roll Number in the space provided. DO NOT write anything else on the
Test Booklet. ,
4. This Test Booklet contains 100 items (questions) printed both in Hindi and English. Each item

comprises four responses (answers). You will select the response which you want to mark on the Answer
Sheet. In case you feel that there is more than one correct response, mark the response which you
consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet. All items. carry equal marks.

6. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per entries given in your downloaded
Admission Letter. _

7. After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Original Copy of Answer Sheet. You

- are permitted to take away with you the Test Booklet and Candidate’s Copy of Answer Sheet.

8. Sheet(s) for rough work is/are appended in the Test Booklet at the end.

9. THERE WILL BE NEGATIVE MARKING FOR WRONG ANSWER(S) MARKED BY THE
CANDIDATE AS UNDER :
@) There are four alternatives for the answer to every question. For each question for which a

wrong answer has been given by the candidate, one-fourth of the marks ass1gned to that question
will be deducted as penalty.

(@) If a candidate gives more than one answer, it will be treated as a wrong answer even if
one of the given answers happens to be correct and there will be same penalty as above to
that question.

@@i) If a question is left blank i.e. no answer is given by the candidate, there will be no penalty
for that question. .

(iv)  If there are two or more correct answers instead of one correct answer out of four alternatives
for the answer to a question, all those candidates who will encode any one of these correct
answers will be awarded marks allotted to that question.

10. No marks shall be awarded for scrapped question.
11. In case of any discrepancy in English and Hindi versions of the item (question), the English version shall

be treated as correct and final.
USE OF MOBILE PHONE OR COMMUNICATION DEVICE IS STRICTLY .BANNED IN THE EXAMINATION

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

Note : Hindi version of the above instructions is printed on the back cover of this Booklet.

& § ;e # & TR 39 gfae & fise g8 wosw R
' 1

P.T.O.




1. In Dewey’s theory of “how we think” :
(A) the logical method of inquiry is ruled out
(B) the experimental method is used exclusively
(C) neither the logical nor the experimental inethod is involved
(D) ideas produced by any method must be tested in experience
St #EIRT g whawifka fawm mm “How we think” & 3Fd :
@A) sta #t afiw faft B 9 &
(B) quid: Wi fafy &1 wdm @ ¥ |
(©) 7 & affs fafy ok 7 & weifies faf &1 v @ &
(D)Wmﬁamwmmwmﬁaﬁwmwﬁmw

it ®
2. The doctrine of “Pancha Sheel”, adopted by the Govt. of India, was taken from :
(A) Samkhya-Yoga (B)  Jainism
(C) Buddhism (D) Upanishads
YRd WIR R 379 T veeia’ fagia few it @ fem mn ¥ 2
(A) wreg-dm (B) 7 =
(C) g =¥ | (D) 3ufR

3. Which of the following Indian philosophies embodies a unique combinétion of
realism, pluralism and relativism ?
(A) Jainism (B) Buddhism
(C) Samkhya (D) Uttar Mimansa
'maavhﬁagmwh%m%mﬁaamﬁm Wawwﬁwww
3MQl TEeHA T ¥ 2
(A) 37 T | (B) 5 <¥H
(C) W& g (D) W i
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4. According to Robert Mager (1969), which of the following is not a part of the

objectives written in behavioural terms ?
(A) Behaviour, that the learner will be able to display
(B) Analysis of the behaviour displayed
(C) Conditions under which the behaviour is to be displayed
(D) The standard of the behaviour to be displayed
o AR (1969) & oIER Frefafed § ¥ 9 FE SR ¥ W EEwT w9 d
fag S o R F WM T S ?
(A) =@eR 8 T=1 WRR[ R "WHm
(B) Wf¥@ foFy s a1 =R 1 favasm
(C) st fmah sivia sgaer Wi fwan smam
(D) WRRW =EER F &N
5. “A proposition or a statement is meaningless unless it is verifiable directly or
indirectly.” The statement represents the éssence of which of the following schools
of philosophy ?
(A) Pragmatism
(B) Idealism »
(C) Logical positivism
(D) Progressivism
AR B F TIE AW WY T Y GO T §, A A wed el dm”
TE Ho 7 7 @ fFm e w1 AR % 2 |
(A) FArTEE
(B) ¥EEER
(C) TfFT FaER
D)y
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6. The agency, which plays the most significant role in the transition of an

“individual” to a “person” is :
(A) the school
(B) ' the family

| (C) the community

(D) the religion
ﬁﬂﬁ?ﬁ%ﬁﬁﬁ?ﬁmﬁm%ﬁaﬁﬁaﬁwﬁzﬁmﬁﬁwﬁmﬁww
LG
(A) faae
(B) UfEm
(C) =

- (D) wH

7. Three of the following are essential for teachers to do in order to fulfil the
expectations of the society. Which one is not ? |
(A) They must make schools the replica of society
(B) They must reward and guide behaviour in social interaction
(C) They must know the cultural heritage of students
(D) They must relate school activities to cultural patterns
ﬁw%@aﬁmﬁmﬁwmﬁ%@@awmﬁmw%uﬁmmﬁh
1 fafg w7 & fau afeed &1 o @ St 9 ¥ 0
(A) 3% fremerdt A WU W oyl B w9 F wuiRa wen
(B) o=dl & =R 1 39 YhR PR 9 T F0 W Ae R w= stfueius
R SR w0 § feg i R W

(C) 3% o=dl & Wpfaw foRraa &1 9 BN =g
(D) =A% forarma W TR wieplis ghEE @ S e
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8. Which of the following is most characteristic of a socially and emotionally mature

person ?
He/She
(A) does not experience conflict

B) frequently places the welfare of others ahead of the immediate satlsfactlon

of his needs
~ (C) represses the expression of unhealthy emotions

(D) seeks goals that are realistic in the light of his/her abilities and opportunities

ﬁw%@aﬁazﬁmam%@rwﬁwmﬁqﬁmaaﬁﬁﬁm%7

(A) W@ =afF = EgE wt Sl TE e

(B) €MHTd: %wﬁﬁmﬁmﬁmw@ﬁmﬁm
W ®

(C) 9% U7 THNHS WARNN H IHW 7 2

(D)agmmmsiwﬁm%ﬁwﬁmaﬂzmﬁﬁgﬁgﬁ
EESIEE

9.  Research on the relative effectiveness of “learning by wholes” and “learning

by parts” has shown that :
(A) Learning by parts is better than lea‘rning by wholes
(B) Learning by wholes is better than learning by parts

(C) The relative effectiveness of each depends on the nature of the material

being learned

(D) Learning by wholes tends to be more effective in most cases

o sferm fafy qen siw sifm fafa o wde g @ wed § gu oWy @ O
e gl e F o

(A) mﬁfwmﬁmwﬁfﬂaﬁaﬁmﬁwuwm%

B) wpt sferm fafy oiw fafy sfrm fafy &Y qorm § orfes wureh ot @
(C) fafy =g =g ot &, aferm =+ g dieht oA ol TEER W frk W@ R
(D) wfuepryr feufedt & qof eiftrm fafy ofus gt o8 ™ &

TBC : YRS(AP-CC-Education)-2022—A 5 P.T.O.




10'. “Problem solving” differs from “creative thinking” in that :
(A) the “solution” in creative thinking is somewhat novel and less defined
by the problem |
(B) Problem solving involves trial and error
(C) Creativity is spontaneoﬁs
(D) Problem solving requires a somewhat lower level of ingenuity, brilliance
and flexibility '
memﬁmﬁmﬁfwm% ?
(A) GoAIHE foa7 g1 W TYH Ho-9 Afus oFE S ¥ U1 §EE 5N %A
oRwfee @ & |
(B) 9ne wmyE fafy # uydeyor gomedt/(Trial and error) &1 AN 8/l ¥
(C) YoMl T Ta: Wafdd wiwan ot §
(D) 99 §HIYH H STUIhd HH YU, T WAW q9T HH TG HI SvIHA
11. The active process of interference of earlier learning in the retrieval of later
learning, is generally known by the technical term of :
(A) Repression |
(B) Retroactive inhibition
(C) Proactive inhibition

(D) Negative transfer
ﬂma@mmwm@ﬁwmaﬁnmﬁgq it = sifad

§, I T wE ¥ 2
A) fure
®) s gEdy
(C) swasht waliy
(D) THNETH T
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12. The transfer of training from situation A to situation B is éffecte_d most by :
(A) The intelligence of the learner
(B) The meaningfulness of situation A and B
(C) The similarity of situation A and B
(D) The motivation of the learnér
mﬁaﬁA@w&aﬁBﬁafwmmﬁmﬁf@aﬁﬁmwﬁwﬁv&
AT 2
(A) 9T & Ffg T W
(B) Jraftyfa A a1 B &1 tedquiar w
(C) 3rafeyfd A den B &1 9HEYN W
(D) FA@ H AW T W
13. It can safely be assumed that a student understands a principle when he/she
can :
(A) answer specific objective type questions connected with it
- (B) give examples of it
(C) repeat it verbally |
(D) use it to solve unfamiliar problems to which it applies
%mﬁﬁmmﬁﬁmm%ﬁqﬁﬁémaﬁmﬁmﬁm%-
W Tgen wE aed € fw o
(A) 98 7@ Fem @ e s fafme wodl & SW R W
(B) $9% IR % WhHAT §
(C) Wifgs &1 § 3% 60 wHAT § |
(D) 3 fram &1 ST o 369 & origeet guensl wi geren wwhdar §

14. The difference among the various abilities of an individual is known as :

(A) Individual differences (B) Inter-individual differences
(C) Trait variability (D) Differential aptitude

foret =aff @t fafe drell § T R AW SRR W w e § 2
(A) =fFmE femad (B) S=R-oafem 98

(C) a&w ufEfia (D) fafere stfvgma
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15. The basic difference between Amentia and Dementia is that :
(A) Dementia refers to a loss while the amentia refers to a lack of Amental
functioning
(B) Dementia involves a more advanced state of psychiatric dysfunction
(C) Amentia is a neurosis while dementia is a psychosis

(D) Dementia is a technical term while amentia is that commonly used by layman

to identify the same condition
Amentia (9fg 3&cd) T Dementia (fafaramar) & @ sfav o ¥ 2
(&) S gfs F gl F FE E, oo fafgae T A wE @ s R
(B) Dementia AHfe® foewR &} 1M smEeen ) wey § |
(C) Amentia T YHR FT -‘{1,’@1'\{:!11 8] ¥ g Dementia WHREH psychosis &
(D) Dementia T WRMYH 1 ¥ W Ameﬁtia HT IYERT IHY WR & fau
FA ¥ |

16. The “halo” effect is mainly the result of fhe fact that examiners are influenced
by : |
(A) their overall appraisal of the individual being rated
(B) The ratings made by others on the same individual
(C) The tendency to rate most people above average |
(D) The tendency to show favouritism towards certain individuals
“IA TN B STUR W e Wy i whes frenel # few W@ @ wehE
TR TEHT K § 2 |
(A) fomnedt & wfq sot wmE@T awom @
(B) faamnel & fovm § s =fmdl = W X
(C) =afFEl =1 wmr@: e @ $W aiF #: wafa 9
(D) ®B KA % WY U¥UE HH w1 ygfa @
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17. Which of the following statements concerning the test validity and reliability'

is most accurate ?
(A) A test cannot be valid unless it is reliable
(B) A test cannot be reliable ‘unless it is valid
(C) A test cannot be reliable unless it standardised
(D) A test cannot be valid unless it is objective
et v # dua qon favaeiga & gy § frafafes 3 ¥ W 97 qaifus
w2 | | | |
(A) R FX Fu fovawda & T @ oo® M TG Q@ wHEA
(B) ®E wud A% dy T ¥ @ a5 favawdy off T @ wE@
(C) IRk HE Hu1 THRIFHd T8 ¢ @ I8 favewda T A wHa
(D) 3 HE HYT TGW T ¥ D Y TG A FHA

18. Most' educational sociologists agree that character education :
(A) is impossible without teaching of religious doctrines
(B) is the exclusive province of religious institutions
(C) is best handled by givihg youth ready-made | judgements
D) should involve the direét discussion of moral issues
sfersie wEETER TW WA W WeWa ¥ fr afe-fetn o
(A) wiffw fagmi =i feeme fam v @
(B) wwha: aiffs Gemel @ afusw & # et &
(©) Wit = wfa fofa 29 @ R TR A A 1w
@) # Aaw vl ® yow faEam @ =y
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19. In column 1 below are mentioned some different types of research, and in column

2 are given examples/definitions of the research in a jumbled way. Compare

the two columns and select your answer from the options given under the columns.

Column 1

(@) - Qualitative

() Applied

(¢) Quantitative

(d) Phenomenological

Options

(a)
A W
B) @)
© @b
o (@)

TBC : YRS(AP-CC;Education)-2022—A
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(ii3)
@v)
W)
0]

()
@
@)
(iv)
@)

@
@)

)

@)

) |

10

@

@)

(i)

(v)

()

Column 2

To study the nature of banking
transactions taking place in early
1900’s in India

An interview conducted to
understand the present condition

of Bhopal gas tragedy

An investigation, which is open

ended and exploratory

Systematic investigation using

measurable variables

To solve a social problem in order
to improve the human/social

condition




20.

R &y T wy 19 Y & %9 @ @ W R ¥ v Twe w2 § ada
mﬂﬁmﬁwmﬁmw%lmﬁwaﬁmﬁmﬁﬁaﬂtﬁqm
ﬁwﬂﬁﬂﬁwaﬁﬁﬁaaﬁ

W9 1 ' WY 2

(a) TUICH® Y (@) SIRF 1900’s # vRa # faemm Sfenm yorredt

*1 g gda ded § @

(b) I o G) A A g Y glem Y adum fefy @
g & faw fear T aameeR

(©) W i) T T W W fan ok wwEs @
(@) SeA-fRa SRR STEEA (iv) WA = H TE N gu e T e
| iy |
(v) W feafd B gURY ¥q Rt T T
H T Gl

fawea -
(@ & © @
A @ ) & G
B) & @ G-
©C) @) W @ @
M @ O G

The sudden dlscovery of ends-means relatlonshlps in problem solving is

generally known as -

(A) Ins1ght (B) Intuition
(C) Hypothesis (D) Inspiration
memﬁﬁmmw—mmaﬁwgé@aaﬁwm% ?
(A) r=<fee (B) 3=

~ (C) uftweT D)
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21. Which of the following types of research aims at hypothesis testing and
generalisation ?

(A) Ethnographical (B) Experimental

(C) Historical (D) Phenomenological
ﬁﬂﬁf@aﬁ%m@ammﬂvﬁmmmﬁmamwmﬂmm% ?
(A) SFSIE oY (B) gAHE

(C) arfes i | ©) we-frn b

22. Which of the following functions is not included in the mandated functions of
the UGC ?
(A) Promoting and coordinating university education
(B) Determining and maintaining standards in teaching, examination and

research in universities and colleges approved by it

(C) To attain planned and coordinated development in teacher education
(D) Giving special development grants to colleges and universities
frafafas & ¥ FFa o 3. St @ w1 nfumies v T ¥ 2
(A) Tavafermem foan &1 dadw qm v
(B) g S w. gr W= W fovafammerdl ¥ stear, whew qgr My aeel w5 frafko
(C) I foan &1 grafaa qon wafaa fawm gifrea s
(D) werfoemerd dun favafaemerdl wt oy fawm-smem afr 1 seT &

23. The primary purpose for which aptitude tests are devised, is :
(A) to measure potentiality ‘
(B) to measure proficiency }
(C) to measure interest in a particular field of knowledge
(D) to predict the degree of one’s success in a given field
sfugma whew frfn =1 wafes e € Rl w5
(A) E™FA ST °9A

- (B) HRYIedl &1 HUA ‘

(C) wfesy &t wrreaar w1 A1
D) & favm # fpedt =fm * wem # wfasgamt s
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24. Which of the following schools of Indian philosophy accept Pratyaksha and
Anumana as the only means of valid knowledge ?

(A) Sankhya and Yoga
(B) Buddhism and Vaishesika
(C) Jainism and Vedanta
(D) Purva mimansa and Nyaya
Wﬁﬁwmﬂm%ﬁwmaﬁﬂmﬁéaﬁm%
aed wed € 2
(A) HiE3-gm
(B) g e aw s
(C) 37 T¥A qu A<
- (D) g i e =m
25. Which of the following is incorrect ?
Teachers, who practise differentiation in classroom may :
(A) design lessons based on student’s learning styles
B) ’g'roup students based on shared interest or abilities
(C) assess student’s learning. ﬁsing formative assessment
(D) use best teaching aids in order to make the lesson most effective
freffam § @ W W@ W ¥ 2 |
eAgE St S I A faidiga yomelt w1 SwEM Fd € A e
(A) U8 diel ® faafid @ st Sfedl W osnunf@ W@ €
(B) w=dl = T Wigh A IR drware # YR W I wEl § Sfed ¥
(C) o=l 1 Yedihd i goa Fmforere fafy &1 swagm #@ ¥
(D) WIS # s ywEt T B o wEiw weEs Gl w1 IwEn Fwa ¥

26. Which of the following represents the highest correlation between two variables ?

A) 0.00 ’ (B) -1.00

(C) +2.00 (D) 0.05

T fu U Q) =0 F wew weHayl § gad 9O YW A €7
“(A) 0.00 (B) -1.00
| (C) +2.00 - (D) 0.05
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27. The phrase “equal educational opportunities™ in India means : ‘
(A) equal opportunity to have the type of education for which one is suited
(B) equality of opportunity for the type of education available for each child
(C) equal opportunity for all children to haves access fo higher education
(D) equality of educational opportunity for each child
wRa & e § “wum e s’ A 3fe Q@ wn o & 2
(A) 30 foan & o S et =i o6t el & oEE @, THF AR W FRA
(B) Wit =i =1 I== foren W FA & AU THA W W HEN
(C) S +ff forean Sumsy A, & fow gHE a3
(D) T&% w3 & for foret dqwma & wum e s
28. People whose educational philosophy is rooted in pragmatism :
(A) reject the scientific method of experimentation
(B) maintain that complete objectivity is possible
- (C) claim that knowledge is tentative, truth is relative
(D) accept the stimulus-response learning theory
S =fF gEear | favew @R § . o
(A) 9 WAfwE & A9t fafs | erefiler @ §
(B) &t ¥R ¥ & qol =gt wova
(C) ST a1 § foF I siaftr/sre @ ¥ ok W wniy
(D) & IFEE-sfran Aferm fagia = ©er w@ §
29. Fundamental research reflects the ability to :
(A) synthesisé new ideas |
(B) generate new principles
(C) evaluate the existing literature concerning research
(D) find out scientific solution of the problems at hand
e My Frefafas § @ fre draa | oRefaa ww@ 2
(A) T fa=ri &1 Fyawu & |
(B) U fa=mi/fagidl #1 wiaued &
(C) ¥y Weith adEm e F qewET FA
(D) =eRRE wHEns w1 St gt ga
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30." A problem child is generally one who has :
(A) an unsolved problem
'(B) a poor home environment
(C) a poor heredlty
(D) an overprotective parent(s)
HHE: GO STes 98 ol €
A) T el sFgeEt oren ¥ T R
(B) &1 WX &1 aere gfear &
(C) foust 99 We =W @
D) foo wa-fra srafus waew @
31. “Shaping the behaviour”, according to Skinner, means :
(A) giving continuous practice until the behavidur is thoroughly learned
(B) it is nothing but another name for over learning

~ (C) breaking the task into small easier units and providing reinforcement at

each step

(D) it is similar to mastery learning
fpr & IER =eEEr fmin w1 a4 ¥
(A)mwmwmﬂmﬁm@mammmm
(B) =gaer fafu um srfa-aifrm &1 @ o0 W ¥

©) T T A e F FA-IR Tt F g TAF WO W A R
(D) T® R A @ e ® |

32. Who, of the following, promoted the concept of latent learning ?

(A) Jerome Bruner (B) David Ausubel
(C) Lev Vygotsky (D) E.C. Tolman
T3 Afam faga & s fegy fen o 2

A) W g (B) efas smgaw
(C) A9 IFTREE O ¥ . A=
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33. For enhaﬁcement of creative behaviour among students in the class, teachers
need to take special measures. Which of the following can’t be a part of such
measures ? |
(A) Giving more and more open ended questions
(B) Encouraging problem solving ectivities
© Emphasising divergent thinking exercises

D) Bramstormmg exercises

mﬁﬂmmﬁmﬁﬁ%mwaﬁmw%maﬁaﬁ
I H AW T S e ?

(A) rfyenrfus fagaid w1 g \
(B) 9HE THIUM fratehcd &l Wewifea e
(C) ERt e = Wrewfed FO a1 A W WA
(D) fammmaw (e &1 snam |
34. Which of the following explaine the concept of operant conditioning ?
(A) In this the focus is on the stimulus and how it affects the response
B) It requires a specific behaviour for the reward
© If is another name for instrumental conditioning

(D) It requires a specific response for reinforcement to be given, and the

frequency of responding determines the amount of reinforcement
Frafafeas & @ e wo frae sgwem # R w2
(A) 39 FHR B NHeA § FIwd I W A ¥ 700 @ 99 R FF T€ feg il
| ofem R wehE w ¥ | |
(B) T&FR W % foq fafere wwer sifum @ @
(©) =% Mufvw srqme & @ qEq A ¥
(D) TW e # e T B fAu @ fare srfee # sTavaEa 6t & qen
mmﬁméﬁuﬁam%ﬁwma
TBC : YRS(AP-CC-Education)- 2022——A 16




35. Which of the following sequences of Bloom’s taxonomy of cognitive domain
"represents the revised sequence given by Anderson, Krathwohl et al :
(A) Remembering, understanding, creating, applying, analysing, synthesising,
evaluating 7 '
(B) Remembering, understanding, applying, analysing, synthesising,
evaluating, creating |

(C) Remembering, _understandlng, application, analysing, synthesising, creating,

evaluating.

D) Rememberlng, understandlng, analysmg, synthesising, applying,

evaluating, creating

=H g wfuifed GaeeTe Sevd @1 e, ol e, %mwrﬁ:ﬁwﬁfaa
frar o, Trefafe § @ @ § 2

(A) T, Y, guH, AIAN, favasu, weero, qedrn
(B) TR, Sy, Ty, faverowr, Hvawol, Yo, o
(C) TR, W, ST, Foww, YO, G , TeAwA
(D) ©RU, Y, G, favers, SHwEm, qedeh, g5
36. The most important element in the conduct of a guidance interview is the :
(A) Preparation of the “case” history
(B) Choice of pleasant surroundings
(C) Establishment of good rapport
(D) Freedom from interruptions
~ ﬁ%ﬁﬁ%@ﬁmﬁaﬁmmaﬁwﬁamﬁ%ﬁqmﬁ%m@mﬁmﬁf@a
g ?
) e () =T
(B) T geg ufEaw w1 fmfo s
(©) T " (drr) ferfa ® fEion ww@
D) Frdt THER @ T W aEERT H grvEa w5
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37. Which of the following does not define a hidden curriculum ?
(A) Curriculum taught informally and usually unintentionally
(B) Sociétal or supported curriculum |
(C) Curriculum, which includes perspectives and attitudes studenfé pick ‘up

while they are at school

(D) Covert curriculum

'ma@mmwmaﬁwﬁmmﬁm%v

(A)Qmmsﬁaﬁlﬂmﬁmam%mﬁmwa

(B) WS a1 wHfda qrgasen | . ' |

(C)m@mﬁvﬁéqﬁﬁwamﬁwm%ﬁ%qmlwpﬁwmmr
F oA ¥ |

(D) T T

38 | Whlch of the following is not an example of dlfferentlated learning activity ?

(A) Readlng a passage of a text and answer related questlons
(B) Differentiating fact from opinion
(C) Solving a given mathematical problem

(D) Thinking of a solution that happened to character in a story

frfafed 4 @ s e w fafirdiga (differentiated) M %1 e |
wro |
(A)wmﬁammmmﬁmwﬁ@ww

(B) 424 3 wwfd § 97 W

(C) forsht 3t w¢ nforfa woen w1 g e
(D)wmwmﬁmmﬁﬁﬂﬁﬁrﬁ@ww/aﬁﬁméma@@
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39.

40.

41.

Which of the following is an example of synchronous E learning ?
(A) Video conferencing |

(B) Self-paced learning 0

(C) Course material downloaded whenever needed

(D) Message Boards ’

frfafed # synchronous E learmng HT I FHIFE % ?

(A) difedl wmRfaT ~ :

(B) 197 WHA qul fa ¥ i HEA

(C) IETHATIAR TS Hd H SRAAE H

(D) & & | :
Which of the following statements largely reflects the true meani'ng of the term
“pbackward child” ?

(A) Child whose attainment scores lie among lowest scores of his/her class -~

(B) A dull child with below average intelligence

(C) A child who remains in the same class for more than one year

(D) A child whose attainment falls below the level of his/her mental abilities
ﬁmﬁf@aﬁﬁﬁwmm“ﬁww”ﬁmmﬁg@a yfafafiera
AT ? |
(A)ﬁwﬁwmmﬁﬁmmaﬁ@maaﬁ%

(B) 9% wiorh forae! gfg-afe ofmg & 99 ot ¥

(C) o€ SMetsh S TH & w&1 A TH q ifuw 99 @ T §

(D) 9% STcfF & SUAfsy A AAGS drgais &1 gern § A9 wdt §

Under CBCS (choice based credit system) how are the non-credit courses like,
soft skills, evaluated ?

(A) As pass or fail '

(B) By assigning credits as in other courses

(C) As satisfactory or unsatisfactory .

(D) Not evaluated at all, because these are meant for self-learning only
CBCS (choice based credit system) & 3f=rid TR Hfgz-SQ TG DT TS,
T HY g § 2 :

(A) TH I A & &Y H

(B) = fawdl =+t offa ®fee IW

(C) WSS A TSR

(D) ¥TH YA B @ T & i 3 wegwn w-sfem & fag 9 ¥
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42,

43.

44.

Which of the following is not a concept of Vygotsky’é Social Learning theory ? -
(A) Zone of Proximal Development (ZPD)

(B) Banking concept of Education A

(C) MKO (More knowledgeable others)

(D) Social interaction
W@aﬁ@ﬁﬁmwmmmmﬁwmwm
TR 2

(A) ZPD

(B) forgn =1 Sfww yonedt

(C) MKO-3ifs gfog =t

(D) 9HIfS& st

The famous book, “The Pedagogy of the Oppressed” was authored by :

(A) J. Krishnamurti (B) Ivan Illich

(C) Lev Vygotsky (D) Paulo Freire

yfag T<% “Pedagogy of the Oppressed” =1 & FHE 2
(A) . FwmHd . (B) - 39 3fe=

(C) o9 amEEhl (D) dfel W

Which of the following is not correct about andragogy ?

(A) The adult learners should have a definite say in deciding the content and
process of their learning _ |

(B) Learning should focus more on solving problems rather than learning content

(C) Adults learners are more rigid and less open minded in their behaviour
than younger children

(D) Adult learners learn at a faster rate than youngef children

g fan & Heo # frafafes § F wFw wem wd = o 2

(A) afwm@aﬁﬁmwmﬁwmmﬂﬁﬁﬁwmﬁaw
H AR

(B)@%amwﬁgmdlﬁﬁﬁa@maﬁmammmﬁmﬁﬁﬁ

(C) 379 siferm =t fawg- mamuﬁmﬁaﬁm@ﬁqﬁam@m@mﬁﬁaﬁﬁw
B =fey

(D)%a@m@ém@ﬁmﬁﬁwaﬁawﬁr@mﬁ%
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45.

46.

47.

48.

Who of thé following educational thinkers gave the concept of scaffolding in
educational theory and practice ?

(A) J Bruner ‘ (B) Lev Vygotsky

(C) Robert Bandura " (D) Jean Piaget _
s fagia qon s sgaer § frg Jfee foars 3 Swifeen T sEyuRon
F w2 N

(A) 3. TR (B) ©& AR

(C) T oy D) = fE™

The first model of curriculum develoﬁnient was presented by
(A) John Dewey (B) Ralph Tyler

(C) Hilda Taba (D) Mager

uigg=at i 1 gem wrew weqa fEr

(A) S EH&t A (B) Te®H TR A

(©) feeet = A - D) FWA

The evaluation used to improve the content during the process of curriculum

development is called :

(A) Summative evaluation (B) Formative evaluation

(C) Diagnostic evaluation (D) Creative evaluation

wewEdt fmin w wfrar & <RE wE # @ I o godied ® O Hed § 7

(A) GhTHICHR ek (B) T oo

(C) PR e (D) ﬁjxﬂﬁeroh CRIEE

- Which of the givén statistical tests is not non-parametric ?

(A) F test | (B) Median test

(C) Sign test | _ (D) Mann-Whitney test
| frafafe # ¥ w0 e W swEtes e T Y 2

(A) TF wem . (B) wifeam wigm

(C) W Wt (D) wA-feged wam
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49.. Compare the Lists I and II given below and select your answer from the codes

given under the lists :

(a)
(®)
(c)
(d)

Codes :

(4)
(B)
©
D)

frefafea gt 1 o) 11

Developmental theory |

Multiple intelligences

List 1

(Theories)

Multifactor theory

Group factor theory

(a)
(3)
(1)
3)
(1)

(b)
(D

3)
2)

4)

(o)

(5)
@)
(5)
(3)

SR F fafga wifse .
Ul |
(@) Tawmaas fagia
(b) "ga gfg fagm@

() ghrR* fagm@

(d) TEFERE g

. /e

(A)
(B)
©)
(D)

TBC : YRS(AP-CC-Education)-2022—A

(@)
(3)
(1)

3)
(1

(b)
(1)

@3

2)
4)

(c)
(%)
(2)
5)

(3)

()
4)
(5)

G

(2)

ey

2)
3)

@

(5)

- List II
(Developer)
Howard Gardener
Charles Spearman

Jean P}aget
L. L. Thurstone
E. L. Thorndike

ﬁmﬁmmﬁmmmwmm@zw

@
@
5)

- (4)

(2)

(1
2
3)
@)
(5)

22

T 1

TS MER
e T
w7 RS
TA. T e

3.

Td. oHerRs




50. MOOCs is bui‘lt‘on the idea of :

(A) Cooperative learning (B) Group learning
(C) Web based learning (D) Peer learning‘ ‘
MOOCs # &1 Frefrfen @ frg amoR W g 2
(A) TeFT s | (B) W AfuH
(C) a9 3nuia sAferm (D) wHwy A

51. Creative thinking in the SI model of Guilford is related to :
(A) Problem solving (B) Convergent thinking
(C) Systems (D) Divergent productions

fiewe g gfaaiea *‘ gfg-g=mr wfaam’’ (SI Model) & sidia %j\ﬂb"ll('HOh fa=a =1
wry frefafes & @ e & 2 |
(A) THET TR W (B o fase @
(C) T Yol § D) s fo @
52. “Object permanence” relates to which of the -following stages of cognitive
development accordingly to Jean.Piaget ? |
(A) Sen'sory motor
- (B) Pre-operational.
(C) Concrete operational
(D) Formal operational _
o fras g wfiifea ¢ darore foerd @ seedd @ SR W uerd wenfae
form ot w1 @gw ¥ 2
(A) Fat TR
(B) g dfsrarceTs
(C) ¥y« wiswames
(D) {faw dfwarrs
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53.

54.

Whici'l of the following is not true of creative children. ?

(A) They usually préduce unusual ideas

(B) They have a very high degree of IQ

(C) They fall in the category of gifted children_

(D) They usually deviate from the traditional patfern of thinkingb
o gedl @ faw #§ frafafen # @ SR Fwon v W R ?
(A) ¥ AR R em faemi w5 W ¥

(B) ST%! gfg-cifed oiga 3=9 ol & |

(C) 3% Wfavmemelt == &t S H W@ s §

(D) TH=E: S99 Tamae Soqd o @ 3 oF ¥

Below are given certain plus curricular activities meant for visually impaired

children. Identify the one that does not belong to the group.
(A) Braille reading |

(B) Auditory training

(C) Orientation and mobility

(D) Sensory training

2w T yeEmErr e # 99 W (eTe) fRaream ¥, S Ere
gfeafua s=ai & fau fear s &1 39 ¥ SFa frara <w fhackarg & % 2

(A) 9 arEH
(B) & Pl
(C) fafra=mrg qen wiaefierar wfeterm

(D) vErHs:  gi¥son
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55.

56.

57.

Which of the following is not true ?

Child is likely to be backward if he/she :
(A) has a defective eyesight

(B) receives mal treatment at home

(C) inherited poor cognitive abilities

(D) does not find school subjects interesting
frafafead # § S ot 7d ¢ 2 ,
w1 s Hfaw w0 A fuse @ gwa € AR
(A) 358 gfe-J9 wr=m S ¥

(B) R # g% Wiy gHIER da ¥

(€) 3/ a9 Ww § wfew gfg fieht &

(D) ¥ fomrem & wg W ™ fawg o T T

Which of the following motives is not an unlearned (primary) motive ?

(A) Achievement (B) Curiosity

(C) Maternal motive (D) Aggreséiveness
frefafea # @ 991 /F (motive) MAfTF T8 § ?

(A) Syt (B) fesmn

(C) Wiged W& . (D) ATHHHRA

Parametric statistics is based on certain assumptions, some of which are

 mentioned as per the list given below, save one. Identify the odd one out.

(A) Normality

(B) Homogeneity of variance

- (C) Kurtosis

(D) Randomness or independence

ﬁﬁﬁ@ﬁm(m)mweﬁwﬁmﬁﬂé%ﬁﬁﬁ
¥ T IR ¥ T AT ?
(A) wgHar (B) WU &I THEI

(C) =iy | (D), e M T
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58. Which of the following human needs is the “strongest but the lowest” in the
| (Maslow’s Hierarchy of Needs ? ’
(A) Physiological needs | (B). Safety needs
(C) Self-realisation needs (D) Esteem needs
Wﬁ@muﬁmﬁa“mw"ﬁ%mm%ﬁmm
@ E WG T R 2
(A) e sTavEHN (B) &N HTIHA
(C) Wgyfa smavashal (D) -G 3EYFHl
59. Which of the following is not included in the cafegory of divergent pfoductions
as defined by Guilford in his “Structure. of Intellect Model” ?
(A) Rationality | (B) Originality
(C) Fluency (D) Flexibility
frefafen # ¥ 98 W asm ¥ W frewd g e “afs S R @
TR SR o # wfwfad € ¥ 2 |
(A) THRURHA (B) e
() umarfzar (D) =
- 60. Which of the following is not the basic way in Whlch information from memory
can be retrieved ? .
(A) Recognition (B) Recall
(C) Recollection (D) Reflection
Freafofan # & =% qo fafa St ¥ frd o @ gl 3 T mﬁa%fmmﬂw
7 e e 2
(A) 9T (B) 3] &
(C) =AM (D) #HH
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61. Which of the following cannot be termed as “aim of generél education” ?
(A) Development of worth while knowledge | '
(B) Development of worth while skills
(C) Development of efficient work force for the state
(D) Development of human values
ﬁwmaﬁﬁ%%qmm%ﬁﬁ“w@m$3@ﬁ"ﬁﬁvﬁﬁ?ﬁ
@l S gehal ?
A) =fm § wds 99 w1 e
(B) =t # widw @il w1 faww
(€) W & fou wv@ wd-9@ &1 fgw™
(D) faenfdat &% #ArE gedl 1 faem

62. What, according to the school of logical positivism, is the functlon pf philosophy ?
(A) To study the nature, process and sources of knowledge
(B) To study the nature of existence and the ultimate reality’
(C) To study the meamng and nature of values “

(D) To clarify the meaning of propositions used in discourse by mear}s of semantic
analysis of the language used

mww%mmmmmﬁ@wﬁm% ?
(A) I H WHfd, giran den Wl T HEW |
(B) i qan ifem o1 Y WHh #1 T Hw \
(C) oa gt & e qem WeRfa @1 SvemyA HTW !
(D) Wmﬁmﬁ%aﬁqﬁwmamaﬁwmmﬁshm—
Ht gfte § F, IR 3 TR FEW \
63. Which of the following is not one of the M.D.G. (Millennium Develoment Goals) ?

(A) To reduce child mortality . |

|
|
!

(B) To reduce extreme poverty

(C) To eradicate problem of untouchability : | ‘\‘

(D) To achieve Universal Primary Education

frafafad § @ $F9@ © MGD (weuife fawm @sa) & ¢ 2

(A) S<Hi HI G X B FH HE

(B) ¥dd TE A FH FEN

(C) STEgTgal HI T H W HEAT

(D)maf%ﬂmmaﬁa;ﬁmiﬁ‘rwm |
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64. When and where was the first EFA (Education for All) Conference held ?

65.

66.

(A) Beizing-2000 '(B) Jometian-1990

(C) Dakar-1992 (D) New Delhi-1993
“mﬂa‘:fﬁqﬁnm" (EFA)mwwfasawﬁmmsﬁzm’fganm ?

(A) HRT-2000 , (B) <Mfea-1990

(C) SHR-1992 D) 7 feehi-1993

- Which of the following agencies is directly concerned with the Rights of Children ?
~(A) UNEP | (B) UNICEF |

(C) Ungisco | (D) World Bank

Frerffe § ¥ e siolsia Bt we @ s @ e s Q wEh & 2
(A) UNEP (B) UNICEF

(C) UNESCO (D) World Bank

Which %)f the following is the lone international organization concerned with

the prémotion and development of Distance Education and Open Learning ?
A) COL (Commonwealth of Learning)

(B) UNICEF

(C) ESCO

(D) ,ommonwealth Foundation
ﬁmﬁaﬁmwmm%@“wﬁmamwm
& 3=m=r % fou wnfim e w2

(A) COL (Commonwealth of Learnmg)

(B) UNICEF

(C) UNESCO

(D) CommonWealth Foundation
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67.

68.

When an investigator rejects an actually true null hypothesis, and accepts an

alternate hypothesis, he/she is committing :

(A) Alpha error

(B) Beta error | »

(C) Both type alpha and beta error N

(D) Neither alpha nor beta error |

o FE vl R T W e TR @ SR w2 § o o et
IREATTT H WHER T A E D qE FE GER F wiferwa g v w2
(A) JIeH (RT 1) |
(B) 1 (| 2) |

() swm iR W, I FER H

D) I F F FHel wER K o

LS

No research can be considered ethical if the investigator :
(A) does not investigate the data scientifically
(B) tries to intentionally prove a particular hypothesis

(C) does not ensure confidentiality of the respondents (subjects)

(D) does not ensure reliability and validity of the data

et sy ®d R Aok TE ke W geRar A vkl
&) W R St AP w @ w

®) Frh v B wfeE g s Tl ¥

(C) wafdEt #1 i gfafraa wd wa

(D) wexii <t ferveraiar qoan dear ghifeem =i e
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69.

70.

To which of the following types of research does the topic “A critical examination
of the nature and process of progressive education”, belong ? '

- (A) Historical research . (B) Ethnographical research

(C) Descriptive research (D) Philosophical research

“yfereier e & wET qen wiman o fadeTeTs T T vy ster frefatea
d ff9 YR & Y ¥ wafug ¥ 2

A) Urefes wha (B) WFEST W

(C) faatomensr oy (D) Trif MY

From the list of different kinds of sampling techniques given below identify
the non-probablhty t1°chmques Give your answer from the options given under
the list : |

(1) Systematic

(2) Quota

(3) Snowball “
(4) Stratified random ;“
(5) Cluster |

(6) Purposive

Options : . ,
A) (1), 2), ), 5) 1\ (B) (2), (3), 4), (6)
(C) (2), 3), (6) - D) (3), (5), (6)

= < fafv= wfieeee fafedl 3§ -t heae e ? I SW & fag

feu U fawedi &1 Sw@m wifsw
(1) wfus gfaegm

(2) = gfa=aA

(3) Ve wfa=aA

(4) wf@ wfoaam ;
(5) FRR WhTE
(6) Weya wfaega
farerey

(A ), 2, @), 6) , B) (2), (3), (4), (6)

©) @), 3), (6) D) (3, (5), (6)

TBC : YRS(AP-CC-Education)-2022—A 30




71. Choose the option which explains the given expression :
But for that mistake, I would have won the last match.
(A) I made the '_mistake and won the last match.
(B) I have won the lést match for the mistake.
(C) Had I not made the mistake, I would have won the match.
(D) If I made the mistake, I can win the match. |
72. Change the following into Active Voice :
“I was given this book by his mother.”
(A) His mother gave me this book.
(B) His mother gives me that book.
(C) His mother had given me this book.
(D) This book was gi{ren by his mother.
73. Choose the correct sentence :
(Ajv All the passengers except for Heena was killed.
(B) None of the girls were present at the event.
(C) The committee members have given their opinions.
(D) Hundred mﬂes are a long distance to cover on foot.
74. Choose thé correct indirect form of the following :
Father said to the child, “Have you post;ed that letter for me ?”
(A) Father told the child that if he have posted that letter for him.
(B) Father asked the child if h<.e have posted that letter for me.
©) Father asked the child whether he had posted that letter for him.
(D) Father asked the child if he has posted that letter for him.
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75. Choose the option which explains the given expression.
I like her amicable ‘n'ature.
(A) She is so hostile
(B) She is so friendly with everyone
(C) She loves to take risks in life
(D) She is fearless
76. Choose the option which is not suitable for the blank.
Shalu is ...ccccceeereennnnnnnn, gifted. She was picked up for the job.
(A) extremely
(B) scaréely
(C) very
(D) exceptionally
77. Arrange ‘the following jﬁmbled parts into a meaningful sentence :
| P : are less used
Q : by us than phones
R : the computers on our
S : in our pocket
T : desks and laps
(A) RTPQS | (B) SQTRP

(C) PSTRQ (D) SPRQT
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78.

79.

80.

81.

82.

83.

84.

TR R & o fed wHew ¥ 3@ awa # @ #e-w Pom ¥ 2

(A) T (B) THNHS

(C) FTIH (D) wihRHH

A B ¥ D HD T BAL A I | e T O g S
fere 93| | |
(A) q& 9 ssh B) & A FEN

(C) "% 7 e | (D) wF T el

‘ST D WAl T R d EH-w aEER ¥ 2

(A) e (B) W&

(C) 7% D) w9
aﬁ@mwmmﬁﬁlwmmmm%?

(A) Hehaareas | (B) Hgaraw

(C) fafyaras (D) T=EEH

‘ﬁé@@quﬁmaﬂxwm?ﬂm’nwwﬁ‘ﬁwm'
w R ?

(A) ST (B) Wi
(©) Y | D)
ffafed 4 @ #F-w v= ‘g’ =1 vt @ Y 2
(A) a . (B) WxiE

() Wiy | D) R

@ IR & g fefafad § ¥ SE-w vem wgw T e 2
(A) (B) ©
(©) (D) T
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85. Which of the following is not the tributary river of the Giri river of Himachal

. Pradesh ?
(A) the Jalal (B) the Baspa
(C) the Pervi ' | (D) the Kohal

feureet wew d fr # @ FR- 7 T T @ e ) o ¥ 2
(A) & (B) &9
(C) @t (D) A

86. In which of the following districts of Himachal Pradesh, Matiana is located ?

(A) Shimla | (B) Sirmaur
(C) Kullu (D) Mandi
mm%ﬁnﬁ@mmﬁﬁm% ?
(A) femen B) fawR
(C) FH] | D) w&

87. From which of the following places of Himachal Pradesh the State Museum -

Shimla has collected the sculpture of Vishnu ?

(A) Kanihara ~ (B) Masrur

(C) Nirmand © ® Manal |

e WY @ 6w T ¥ T T R 3 ey 9 o W w9 E 2
‘(A) EaEry - (B) W |
© fmivg (D) el
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88. The produétion target of which of the following principal crop was highest in
Himachal Pradesh in 2021-22, according to HP Economic Survey 2021-22 ?
(A) Rice o (B) Wheat |
(C) Barley > (D) Maize
%nmau%maﬂémqﬁmadzozwz%awﬁmﬁﬁmw@mmm
a T Afeh o ?
(A) =T . B)
(C) s | D) WY

89. The provision of which of the following amount has been made for Social Security

Schemes in Himachal Pradesh Budget for 2022-23 ?

(A) Rs. 1500 crore | (B) Rs. 1300 crore

(C) Rs. 1200 crore D Rs. 1400 crore
mmmaﬁzozzwﬁwmm?ﬁwaﬁmﬁﬂﬁ@mﬁnﬁwﬁ
e H T ?

(A) 1500 FAS = (B) 1300 FAT ®.

(C) 1200 g %. (D) 1400 FUS %.

90. In which of the following districts of Himachal Pradesh, the first Hydrogen .

Fuel Generation Plant is being set up ?

(A) Shimla (B) Mandi

(C) Kangra D) Chamba

fere WoW @ Frer § @ P R & wem Hydrogen Fuel Generation Plant T&fia
fem s ® ? ’

(A) feren - (B) wuEl

(©) wimer | D) =
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91. Of the following, who got the Parshuram Award (Spbrts) in Wrestling in
Himachal Pradesh in 2012 ?

(A) Sanjay Kumar (B) Priyanka

(C) Jonny Chaudhary (D) Chaman Singh

e wew # 2012 & wvdt ¥ wyEm R B § ¥ fee faem € 2
(A) T FAR | ®) fydw

(C) St ey ‘ D) =7 fog

92. Which of the following districts of Himachal Pradesh had the highest density

per sq. kilometer of population, as per the census of 2011 ?
(A) Hamirpur (B) Chamba

(C) Solan (D) Kangra

a8 2011 &1 SO & STIER e WRw @ fre # ¥ frg R § wawen @@
fd fereirteX wemar god aifues o 2

(A) TR (B) ==

(C) drerH (D) wiTeT

93. Of the following, which is the Full Strength of the Judges of Supreme Cpurt

in India ?

(A) 38 (B) 34

(C) 30 (D) 31
WWW@Wﬁﬂ?ﬁﬁﬁﬁﬁﬁaﬁ?—ﬁwmﬂﬁ% ?
(A) 38 B 34

(©) 30 | | D) 31
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94. In which of the following years, the Jal Jeevan Mission—Har Ghar Jal Scheme
of Government of India promises to make provision of tap water connecﬁon
~to every rural home and public institution ?
(A) 2022 | (B) 2023
(C) 2024 : (D) 2025
WA WER & S Sied feA—s WO # 9o T gde o sRoae S
e P A D e T T e e e & 2
(A) =% 2022 | (B) =¥ 2023
(C) =§ 2024 (D) = 2025

95. Which of the following rivers of India has the highest annual yield of water ?

(A) Ganga (B) Brahmaputra
(C) Godavari _ (D) Narmada
WA # e # § g A e weifus ot e ¥ 2
(A) Tm : (B) SRIH

(C) Teradt (D) T

96. Identify from among the following artists who has made the painting,
The Maharashtrian Lady :

(A) Satish Gujral (B) Nandlal Bose

(C) Abanindranath Tagore (D) Raja Ravi Varma

f=1 *e®R’i § ¥ The Maharashtrian Lady sAM o FeehR 1 TgaH T
(A) Fefter o (B) <o s

(C) srrtgay &R D) s Fa ot
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97. When did China pass the Controversial New National Security Law for Hong

Kong ?

(A) May 31, 2020 ' (B) February 29, 2020

(C) June 30, 2020 (D) September 30, 2020

9 7 gin-win & fau faaerae New National Security Law %« uifi@ fan ?
(A) 31 W§, 2020 (B) 29 ®E, 2020

(C) 30 S, 2020 D) 30 fae=r, 2020

98. Of the following, which is the correct venue of the Secretariat of the Indian

Ocean Rim Association ?

(A) Manila (B) Jakarta
(C) Bangkok , (D) Port Louis
Indian Ocean Rim Association & Wfeaea &1 9 @ f71 § @ +af ® ?
(A) wHten | (B) STl
(C) el D) 9 T
99. Which of the following countries had the lowest growth rate of population in
2021 ? | N R
(A) Indonesia (B) Russia
(C) Nigeria (D) Mexico
a9 2021 § o1 & ¥ forw S &t S & TR S el w9 ot ?
(A) ERfrEn | (B) 9
(C) esiftan (D) Afraant
100. The Headquarters. of Amnesty International is in :
" (A) New York (B) Geneva
(C) London (D) Berlin
Amnesty International %1 J&Ied %gf W § ?
(A) I (B) ¥
- (© == D)
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SPACE FOR ROUGH WORK
wea W & fag e
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